Problem Set 3.6C

Name ________________________________________________     Date __________     Hour _____

1. 
Solve each equation below using the Table feature of your calculator. Fill in the table and indicate the solution.

a.)

-2x + 9 = 27




b.)
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Solution:  x = __________



Solution:  x = __________
c.)
0.4x – 0.25 = 1.75



d.)
3(x – 4) –  2 = 13
	x
	f1(x) =
	f2(x) =
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Solution:  x = __________



Solution:  x = __________
e.)
3x + 2 = 8.9




f.)
-3.2x + 0.76 = -5
	x
	f1(x) =
	f2(x) =
	
	x
	f1(x) =
	f2(x) =

	
	
	
	
	
	
	

	
	
	
	
	
	
	

	
	
	
	
	
	
	

	
	
	
	
	
	
	


Solution:  x = __________



Solution:  x = __________
2.
Solve each equation below using a graph page and the Intersection command on the calculator.
a.)

3x – 4 = 5




b.)
0.5x + 4 = 8
f1(x) = _____________________


f1(x) = _____________________
f2(x) = _____________________


f2(x) = _____________________
x = ____________




x = ____________

c.)

2(x+1) = -8




d.)
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f1(x) = _____________________


f1(x) = _____________________
f2(x) = _____________________


f2(x) = _____________________
x = ____________




x = ____________
e.)
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f.)
5.4 – 1.2x = 1.8
f1(x) = _____________________


f1(x) = _____________________
f2(x) = _____________________


f2(x) = _____________________
x = ____________




x = ____________
3. Solve each of the following equations using the undoing method on the tables.

	b.)   Equation:  
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	Description
	Undo
	Result

	Pick x.
	
	x = 

	
	
	

	
	
	

	
	
	

	
	
	


	a.)   Equation:  
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	Description
	Undo
	Result

	Pick x.
	
	x = 

	
	
	

	
	
	

	
	
	

	
	
	


	d.)   Equation:  
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	Description
	Undo
	Result

	Pick x.
	
	x = 

	
	
	

	
	
	

	
	
	

	
	
	


	c.)   Equation:  
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	Description
	Undo
	Result

	Pick x.
	
	x = 

	
	
	

	
	
	

	
	
	

	
	
	


	e.)   Equation:  
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	Description
	Undo
	Result

	Pick x.
	
	x = 

	
	
	

	
	
	

	
	
	

	
	
	


	f.)   Equation:  
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	Description
	Undo
	Result

	Pick x.
	
	x = 

	
	
	

	
	
	

	
	
	

	
	
	


4.  Solve each equation using the balancing method.  Show ALL your work!

a.)  5 = 2x + 1 


b.)  5x – 4 = –20 


c.)  6 + x = 3x – 10

d.)  –12 = 9x – 30 


e.)   8 – 3x = –1 


f.)
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g.)  –2.5x = –4 


h.)  
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 + 6 = 10 


i.)  5 – 2(x + 9) = 1 
j.)      
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k.)   6x – 2.1 = 9.3


l.)   4(x + 3.2) + 2.1= 16 
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